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Question 6 (a)

1
2
3

.

.

.

I x x x

I x x x

I x x x

1

1

4

4 3

2

1

4

4 3

3

1

4

4 3

3 1

3 2

3 3

= + + +

= + + +

= + + +

I x x x c= + + +1

4

4 3
3

h x x x

h x x
x

x x

( ) ln

( ) (ln ) ln

=

′ = × + × = +
1

1 1

′ = + ⇒ = ′ −

= ′ − = − + = −∫ ∫
h x x x h x

x dx h x dx h x x c x x x

( ) ln ln ( )

ln ( ( ) ) ( ) ln

1 1

1 ++ c

(i) 	

f x dx h x( ) ( )∫ =

h(x) is an indefinite integral which means that when you differentiate it with respect to x  
you get h (x)
or 
′ =h x f x( ) ( ).

Question 6 (b)
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Question 6 (25 marks)
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Calculus: Product rule [page 25]
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